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CH=C—-CH; CH =CH
Propyne Ethyne (Acetylene)
CH,—C=C—CH, CH;—C=C—C,H;
2-Butyne 2-Pentyne
Name Formula LD a0
°G °C

Acetylene HC=CH —82 —175
Propyne HC=CCH, —101.5 —23
1-Butyne HC=CCH,CH, —122 9
1'Hexyne HCEC(CHz)QCH3 — I24 72
I-Heptyne HC=C(CH,),CH, —80 100
1-Octyne HC=C(CH,);CH, —70 126
1-Nonyne HC=C(CH,),CH; —65 151
1-Decyne HC=C(CH,)-CH, —36 182
2-Butyne CH;C=CCH;, —24 27
2-Pentyne CH,C=CCH,CH; —101 55
2-Hexyne CH,C=C(CH,),CH; —-92 84
3-Hexyne CH,CH,C=CCH,CH, — 51 81
4-0Ctync CH;(CHz)Zc‘EC‘(CHz)chJ 131
5-Decyne CH,(CH,),C=C(CH,),CH, 175
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CH=CH + H2 —>CH2 = CH2 + H2 — CHg—CHg
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CHECH +H20 —>CH3—CHO
CH3—CEC—C2H5 +H7_O—>CH3—CO—C3H7
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KMnQ,4, KOH I o |l

CH3;—C=C—CH,—CHs ! > CH3—C—Oe + O—C—CH,—CHg
H,0, warm
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(2) H,O
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CH3;—CH—CH—CH,-CHj (fused)
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CH3—C=C—CH>—CHj3
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CH;—C=C—H + NaNH, —> CH;—C=C: Na' + NH;

/\

- an P
CH;—C=C: Na* + CH3CH>—Br — CH3—C=C—CH,—CHj3; + NaBr



